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Instructions for the candidates :-

1. Candidates are required to give answers in their own words as far as

practicable.

ijh{kkFkhZ ;FkklaHko vius 'kCnksa esa gh mÙkj nsaA

2. Figures in the right hand margin indicate full marks.

nkfguh vksj gkf'k;s ij fn;s gq, vad iw.kkZad fufnZ"V djrs gSaA

3. 15 Minutes of extra time has been allotted to the candidates for reading

the questions carefully.

bl iz'u i= dks /;kuiwoZd i<+us ds fy;s ijh{kkfFkZ;ksa dks 15 feuV dk vfrfjDr

le; fn;k x;k gSA

4. This question paper is divided into two sections: Section-A and

Section-B

;g iz'u i= nks [k.Mksa esa gS] [k.M&v ,oa [k.M&c

5. In Section-A, there are 70 objective type questions. Out of which

any 35 questions are to be answered. If more than 35 questions

are answered, then only first 35 questions will be evaluated. Each

question carries 1 mark. Darken the circle with black or blue ball

le; % 3 ?kaVs 15 feuV
Time : 3 Hours 15 Minutes

iw.kkZad & 70
Full Marks - 70
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pen against the correct option on OMR-Answer Sheet provided to

you. Do not use whitener/liquid/blade/nails etc on OMR-Answer

Sheet, otherwise the result will be treated as invalid.

[k.M&v esa 70 oLrqfu"B iz'u gSa] ftuesa ls fdUgha 35 iz'uksadk mÙkj nsuk vfuok;Z gSA 35

iz'uksa ls vf/kd dk mÙkj nsus ij izFke 35 iz'uksa dk gh ewY;kadu gksxkA izR;sd ds

fy, 1 vad fu/kkZfjr gSA budk mÙkj miyC/k djk;s x, vks ,e vkj (OMR) mÙkj

i=d esa fn, x;s lgh o`Ùk dks dkys ;k uhys ckWy isu ls izxk<+ djsaA fdlh Hkh izdkj

ds OgkbVuj@rjy inkFkZ@CysM@uk[kwu vkfn dk (OMR)  mÙkj&i=d esa iz;ksx

djuk euk gS] vU;Fkk ijh{kk ifj.kke vekU; gksxkA

6. In section-B, there are 20 short answer type questions, each carrying

2 marks, out of which any 10 (ten) questions are to be answered.

Apart from this, there are 06 long answer type questions, each

carrying 5 marks, out of which any 3 questions are to be answered.

[k.M&c esa 20 y?kq mÙkjh; iz'u gSaA izR;sd ds fy;s nks vad fu/kkZfjr gS] ftuesa ls

fdUgha 10 iz'uksa dk mÙkj nsuk vfuok;Z gSAblds vfrfjDr] bl [k.M esa 06 nh?kZ

mÙkjh; iz'u gSaA izR;sd ds fy;s 5 vad fu/kkZfjr gS] ftuesa ls fdUgha 3 iz'uksa dk mÙkj

nsuk vuok;Z gSA

7. Use of any electronic device is strictly prohibited.

fdlh Hkh rjg ds bysDVªkWfud ;qfDr dk mi;ksx iw.kZr;k oftZr gSA



[k.M&v@SECTION-A

¼oLrqfu"B iz'u½@(Objective Type Questions)

Question numbers 1 to 70 have four options, out of which only one

is correct. You have to mark your selected option on OMR-answer sheet.

Answer any 35 questions. (1x35=35)

iz'u la[;k 1 ls 70 rd ds izR;sd iz'u ds lkFk pkj fodYi fn;s x, gSa] ftuesa ls

,d lgh gSA vius }kjk pqus x, lgh fodYi dks OMR-mÙkj i=d ij fpfUgr djsaA fdUgha

35 iz'uksa ds mÙkj nsaA (1x35=35)

1. xzsQkbV fdl izdkj dk fØLVy gS\

A. vk;fud B. lgla;kstd

C. vkf.od D. /kkrqbZ

Which type of crystal is graphite?

A. Ionic B. Covalent

C. Molecular D. Metallic

2. fiaM&dsafnzr ?kukdkj bdkbZ lsy esa ijek.kqvksa dh la[;k gksrh gS &

A. 2 B. 3

C. 4 D. 12

The number of atoms present in a body centred cubic unit cell is -

A. 2 B. 3

C. 4 D. 12



3. foy;u ds v.kqla[; xq.k/keZ dk mnkgj.k gS &

A. ?kuRo B. nzO;eku

C. DoFkukad mUu;u D. rki

An example of colligative property of a solution is -

A. Density B. Mass

C. Elevation of boiling point D. Temperature

4. fuEufyf[kr esa dkSu lk inkFkZ lcls vf/kd fgekad voueu mRiUu djrk gS\

A. K
2
SO

4
B. NaCl

C. ;wfj;k D. Xywdkst

Which of the following substances produces maximum depression

of freezing point?

A. K
2
SO

4
B. NaCl

C. Urea D. Glucose

5. nzfor NaCl ds oS|qr vi?kVu ls dSFkksM ij eqDr gksrk gS &

A. Dyksjhu B. lksfM;e

C. lksfM;e veyxe D. gkbMªkstu

The substance deposited at cathode during the electrolysis of

molten NaCl is -

A. Chlorine B. Sodium

C. Sodium amalgam D. Hydrogen



6. ,d bysDVªksM dk ekud vkWDlhdj.k foHko $0-76v gS] rks bldk ekud vodj.k

foHko gS &

A. 2 x 0.76 v B. 0.76/2 v

C. - 0.76 v D. buesa ls dksbZ ugha

If the standard oxidation potential of an elecrode is +0.76v, then its

standard reduction potential is -

A. 2 x 0.76 v B. 0.76/2 v

C. - 0.76 v D. None of these

7. phuh ds izfryksiu dks Xywdkst ,oa ÝDVksl cuus dh vfHkfØ;k dks fuEu izdkj ls

n'kkZ;k tkrk gS &

C
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] ;g vfHkfØ;k gS &

A. f}rh; dksfV dh B. ,d v.kqd

C. Nn~e izFke dksfV dh D. buesa ls dksbZ ugha

The inversion of cane sugar to produce glucose and fructose is

represented by the reaction.

C
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, the reaction is -

A. 2nd order B. Unimolecular

C. Pseudo first order D. None of these

8. fdlh vfHkfØ;k dk osx fuEukafdr izdkj ls O;Dr gksrk gS] osx ¾ K[A]2[B] bl

vfHkfØ;k dh dksfV gksxh &

A. 2 B. 3







C. 1 D. 0

The rate of a chemical reaction is expressd as : Rate = K[A]2[B].

The order of the reaction would be -

A. 2 B. 3

C. 1 D. 0

9. fo|qr&{ks= ds izHkko ls dksykWbMh d.kksa dk xeu dgykrk gS &

A. viksgu B. fVaMy izHkko

C. ik;l D. oS|qrd.k&lapyu

The migration of colloidal particles under the influence of electric

field is called -

A. Dialysis B. Tyndall effect

C. Emulsion D. Electrophoresis

10. og izkd`frd inkFkZ ftlls /kkrq dk fu"d"kZ.k Qk;snean gksrk gS] dgykrk gS &

A. v;Ld B. [kfut

C. /kkrqey D. xSax

The natural substance from which the extraction of metal is profitable

is called-

A. ore B. mineral

C. slag D. gangue

11. lk;ukbM fof/k }kjk izkIr /kkrq gS &

A. Øksfe;e B. dkWij



C. flYoj D. ,syqfefu;e

The metal obtained by cyanide process is -

A. Chromium B. Copper

C. Silver D. Aluminium

12. fuEufyf[kr esa dkSu gkbMªkstu ca/k ugha cukrk gS \

A. NH
3

B. H
2
O

C. HCl D. HF

Which of the following does not form hydrogen bond ?

A. NH
3

B. H
2
O

C. HCl D. HF

13. S
8
 esa lYQj dh vkWDlhdj.k la[;k gS &

A. +2 B. +8

C. +4 D. 0

The O. N. of sulphur in S
8
 is -

A. +2 B. +8

C. +4 D. 0

14. fuEufyf[kr ;kSfxdksa esa lcls izcy vEy gS &

A. HCl b. HF

C. HBr D. HI



The strongest acid amongst the following is -

A. HCl b. HF

C. HBr D. HI

15. xksrk[kksjh esa 'olu gsrq ;a=ksa esa fdu xSlksa dk feJ.k iz;qDr gksrk gS \

A. ukbVªkstu $ vkWDlhtu $ fØIVu B. fu;kWu $ vkWDlhtu $ fØIVu

C. ghfy;e $ vkWDlhtu $ ukbVªkstu D. fØIVu $ vkWdlhtu $ fu;kWu

The mixture of which of the following gases is used in the instruments

used for the respiration of divers ?

A. Nitrogen + Oxygen + Krypton B. Neon + Oxygen + Krypton

C. Helium + Oxygen + Nitrogen D. Krypton + Oxygen + Neon

16. laØe.k rRoksa dk LFkku vkoÙkZ lkj.kh ds varxZr gS &

A. s&CykWd esa B. p&CykWd esa

C. d-CykWd esa D. f&CykWd esa

The position of transition elements in periodic table is within -

A. s-block B. p-block

C. d-block D. f-block

17. fuEufyf[kr esa dkSu izFke laØe.k rRoksa ds Js.kh dk lnL; ugha gS \

A. Cr B. Fe

C. Mg D. Mn

Which of the following is not a member of first transition series ?



A. Cr B. Fe

C. Mg D. Mn

18. ySaFksukbM ladqpu fdl rF; ds fy, mÙkjnk;h gS\

A. Zr rFkk Y dh f=T;k leku gSaA

B. Zr rFkk Nb dh vkWDlhdj.k voLFkk leku gSA

C. Zr rFkk Hf dh f=T;k yxHkx leku gSA

D. Zr rFkk Zn dh vkWdlhdj.k voLFkk leku gSA

Lanthanide contraction is responsible for which fact?

A. radii of Zr and Y are similar

B. the oxidation states of Zr and Nb are same.

C. radii of Zr and Hf are almost similar

D. the oxidation state of Zr and Zn are same.

19. fuEufyf[kr laØe.k /kkrq ds vk;uksa esa dkSu izfrpqcadh; gS\

A. Co2+ B. Ni2+

C. Cu2+ D. Zn2+

The ion of which of the following transition metals is diamagnetic?

A. Co2+ B. Ni2+

C. Cu2+ D. Zn2+

20. tfVy vk;u [Cu(NH
3
)

4
]2+ dh lajpuk oxZ ryh; gS] rks ml tfVy vk;u esa

Cu2+ dk izladj.k gS &



A. sp3 B. sp3d2

C. dsp2 D. dsp3

The shape of [Cu(NH
3
)

4
]2+ is square planar. The hybridization of Cu2+

in this complex ion is -

A. sp3 B. sp3d2

C. dsp2 D. dsp3

21. [Pt(C
2
H

4
)Cl

3
]
-
 esa Pt dh vkWDlhdj.k la[;k gS &

A. $1 B. $2

C. $3 D. $4

The oxidation number of Pt in [Pt(C
2
H

4
)Cl

3
]
-
 is -

A. $1 B. $2

C. $3 D. $4

22. lds.Mjh C;wfVyDyksjkbM dk IUPAC uke gS &

A. 3&DyksjksC;wVsu B. 2&DykjksC;wVsu

C. 1&Dyksjks&2&esfFky izksisu D. 2&Dyksjks&2&esfFky izksisu

The IUPAC name of sec- Butylchloride is -

A. 3-Chlorobutane B. 2-Chlorobutane

C. 1-Chloro-2-methyl propane D. 2-Chloro-2-methyl propane

23. fuEufyf[kr esa fdl fof/k ds }kjk izkbejh] lsds.Mjh ,oa Vf'kZ;jh vYdksgy esa foHksn

fd;k tkrk gS\

A. vkWDlhdj.k fof/k B. yqdkl izfrdkjd fof/k

C. foDVj es;j fof/k D. mI;qZDr lHkh



Which of the following methods are used to distinguish Primary,

Secondary and Tertiary alcohols ?

A. Oxidation method B. Lucas reagent method

C. Victor Meyer's method D. All of the above

24. fuEufyf[kr esa fdldk iz;ksx fu'psrd ds :i esa gksrk gS\

A. DyksjksQkeZ B. vk;ksMksQkeZ

C. ,slhfVyhu D. feFksu

Which of the following is used as an anaesthetic ?

A. Chloroform B. Iodoform

C. Acetylene D. Methane

25. dSfYl;e ,slhVsV dks xeZ djus ls fuEufyf[kr esa dkSu izkIr gksrk gS \

A. ,sfFky ,slhVsV B. QkeZfYMgkbM

C. ,slhVksu D. ,slhVSfYMgkbM

Which of the following is obtained when calcium acetate is heated?

A. Ethylacetate B. Formaldehyde

C. Acetone D. Acetaldehyde

26. ,sYdksgy esa dksu jgrk gS \

A. &OH fØ;k'khy ewyd B. &CHO fØ;k'khy ewyd

C. &C¾O fØ;k'khy ewyd D. & NH
2
 fØ;k'khy ewyd

Which one is present in an alcohol ?



A. -OH functional group B. -CHO functional group

C. -C=O functional group D. -NH
2
 functional group

27. fuEufyf[kr esa dkSu ,sfYMgkbM vkSj dhVksu esa foHksn dj ldrk gS \

A. Qsgfyax foy;u B. dkWfLVd lksMk

C. fxzXukMZ vfHkdeZd D. buesa ls dksbZ ugha

Which of the following can differentiate between an aldehyde and a

ketone ?

A. Fehling solution B. Caustic soda

C. Grignard reagent D. None of these

28. izkbejh ,sehu dk fØ;k'khy ewyd fuEufyf[kr esa dkSu gS \

A. -NH- B. -NH
2

C. NH
3

D. NH
3

+

Which of the following is the functional group of primary amine?

A. -NH- B. -NH
2

C. NH
3

D. NH
3

+

29.  ruq ,oa vYi {kkjh; KMnO
4
 ds ?kksy dks dgk tkrk gS &

A. QsUVkWu vfHkdeZd B. Y;wdkl vfHkdeZd

C. os;j vfHkdeZd D. rkWyu dk vfHkdeZd

Dilute and slightly alkaline KMnO
4
 solution is called -

A. Fenton's reagent B. Lucas reagent



C. Baeyer's reagent D. Tollen's reagent

30. fQukWy dks tLrk ds pw.kZ ds lkFk mckyus ij fuEufyf[kr esa D;k curk gS \

A. ukbVªkscsathu B. ,suhyhu

C. csathu D. ftad fQukWDlkbM

Which of the following is obtained when phenol is heated with Zn?

A. Nitrobenzene B. Aniline

C. Benzene D. Zinc phenoxide

31. dkcksZfDlfyd vEyksa dk fØ;k'khy ewyd gS &

A. -CHO B. -CO-

C. -COOH D. -OH

The functional group of carboxylic acid is -

A. -CHO B. -CO-

C. -COOH D. -OH

32. ,d dkcZfud ;kSfxd dh vfHkfØ;k NaHCO
3
  ds lar`Ir tyh; foy;u ls djkus ij

QnQnkgV gksrh gSA fuEu esa ls og dkSu&lk ;kSfxd gS \

A. ,Ydsu B. ,sYdhu

C. ,slhfVd vEy D. ,fFky ,sYdksgkWy

An organic compound on reaction with aqueous concentrated

solution of NAHCO
3
 produces effervescence. Which of the following

is the compound?



A. An alkane B. An alkene

C. Acetic acid D. Ethylalcohol

33. bZLVj dks fuEufyf[kr esa ls fdl lw= ls O;Dr fd;k tkrk gS \

A. RCOR B. RCOOR

C. RCOOH D. RCHO

An ester can be represented by which of the following formulae?

A. RCOR B. RCOOR

C. RCOOH D. RCHO

34. ukVªks,sYdsu ds vodj.k ls curk gS &

A. lsdsaMjh ,sehu B. Vf'kZ;jh ,sehu

C. izkbejh ,sehu D. DokVuZjh yo.k

Reduction of nitroalkane gives -

A. Secondary amine B. Tertiary amine

C. Primary amine D. Quarternary salt

35. DNA rFkk RNA esa leku HkLe mifLFkr gS &

A. ,sMhuhu] lkbVkslhu] ;wjkfly B. xq,uhu] ,sMhuhu] lkbVkslhu

C. xq,uhu] ;wjkfly] Fkkbehu D. ,sMhuhu] Fkkbehu] xq,uhu

The common base present in DNA and RNA are -

A. Adenine, Cyotosine, Uracil B. Guanine, Adenine, Cytosine

C. Guanine, Uracil, Thymine D. Adenine, Thymine, Guanine



36. fuEufyf[kr esa dkSu lk/kj.kr;k ekuo 'kjhj }kjk ugha cuk;s tkrs \

A. ,atkbe B. foVkfeu

C. izksVhu D. gkeksZu

Which of the following is generally not prepared by human body?

A. Enzyme B. Vitamin

C. Protein D. Harmones

37. fuEufyf[kr esa fdl cgqyd esa ,sekbM cU/k gksrk gS \

A. uk;ykWu&6] 6 B. Vsfjyhu

C. Vs¶ykWu D. csdsykbV

Which of the following polymers has amide bond?

A. Nylon-6, 6 B. Terylene

C. Teflon D. Bakelite

38. vk¡yksZu ,d cgqyd gS &

A. VsVªk¶yksjks,Fkhu dk B. ,sfØyksukbVªkby dk

C. ,Fksuksbd vEy D. csathu dk

Orlon is a polymer of -

A. Tetrafluoroethene B. Acrylonitrile

C. Ethanoic acid D. Benzene

39. fuEufyf[kr esa dkSu d`f=e ehBk vfHkdÙkkZ gS \ &

A. lSdjhu B. ,sLikjVse



C. lksfM;e lkbDyksesV D. buesa lHkh

Which of the following is artificial sweetening agent ?

A. Saccharin B. Aspartame

C. Sodium Cyclomate D. All of these

40. fuEufyf[kr esa dkSu&lh nok cq[kkj de djrk gS \

A. ,sukytsfld B. ,safVok;ksfVd

C. ,safVik;jsfVd D. mi'kked

Which of the following medicines reduces fever ?

A. Analgesic B. Antibiotic

C. Antipyretic D. Tranquilizers

41. fuEufyf[kr esa dkSu f}rh;d lsy gS \

A. ysdykap lsy B. ysM LVksjst cSVjh

C. lkUnz.k lsy D. buesa lHkh

Which of the following is a secondary cell ?

A. Leclanche cell B. Lead storage battery

C. Concentration cell D. All of these

42. vf/k'kks"k.k dh izfØ;k gksrh gS &

A. m"ek'kks"kh B. ì"Bh; ?kVuk

C. vkWDlhdj.k D. vodj.k

The process of Adsorption is -



A. Endothermic B. Surface phenomenon

C. Oxidation D. Reduction

43. fuEufyf[kr esa lcls izcy vEy dkSu gSa\

A. CH
3
COOH B. ClCH

2
COOH

C. Cl
2
CHOOH D. Cl

3
CCOOH

Which among the following is the strongest acid?

A. CH
3
COOH B. ClCH

2
COOH

C. Cl
2
CHOOH D. Cl

3
CCOOH

44. fuEufyf[kr esa Vf'kZ;jh ,sehu dkSu gS \

A. B. CH
3
-NH-CH

3

C. CH
3
 - N - CH

2
CH

3
D. CH

3
-CH

2
-N-CH

2
CH

3

Which of the following is a tertiary amine?

A. B. CH
3
-NH-CH

3

C. CH
3
 - N - CH

2
CH

3
D. CH

3
-CH

2
-N-CH

2
CH

3

45. RNA esa ik;k tkus okyk I;wjhu HkLe gS

A. xq,uhu B. Fkkbehu

C. lkbVkslhu D. ;wjkfly

The purine base present in RNA is

A. Guanine B. Thymine

C. Cyoticin D. Uracil

NH
2

NH
2

CH
3

H

CH
3

H



46. Vs¶ykWu] ikWyLVkbjhu rFkk fu;ksizhu lHkh gSa

A. lg cgqyd B. la?kuu cgqyd

C. le cgqyd D. ,dyd

Teflon, polystyrene and neoprene all are

A. Copolymer B. Condensation polymar

C. Homopolymer D. Monomer

47. nnZ fuokj.k dh nokb;k¡ dgykrh gSa

A. ,safVck;ksfVd B. ,ukytsfld

C. mi'kked D. ,safVik;jsfVd

Pain killer medicines are called

A. Antibiotic B. Analgesic

C. Tranquilizer D. Antipyretic

48. fuEu esa fdlesa Ýsady nks"k gS\

A. lksfM;e DyksjkbM B. xzsQkbV

C. Mk;eaM D. flYoj czksekbM

In which of the following, there is Frenkel defect?

A. Sodium chloride B. Graphite

C. Diamond D. Silver bromide

49. ok;qeaMyh; nkc ij fuEufyf[kr esa fdldk DoFkukad lcls mPp gksxk \

A. 0.1 m NaCl B. 0.1 m lqØkst



C. 0.1 m BaCl
2

D. 0.1 m C
6
H

12
O

6

Which of the following would have highest boiling point at

atmospheric pressure ?

A. 0.1 m NaCl B. 0.1 m Sucrose

C. 0.1 m BaCl
2

D. 0.1 m C
6
H

12
O

6

50. lksfM;e DyksjkbM ds tyh; ?kksy dk fo|qr foPNsnu djus ij /kuksn ,oa _.kksn ij

izkIr izfrQy gS &

A. F
2
, Na B. F

2
, H

2

C. O
2
, Na D. O

2
, H

2

The product obtained on electrolysis of aqueous solution of

sodium chloride at anode and cathode are -

A. F
2
, Na B. F

2
, H

2

C. O
2
, Na D. O

2
, H

2

51. ty esa H
2
(g) + Cl

2
(g) = 2HCl vfHkfØ;k dh dksfV gS &

A. 3 B. 2

C. 1 D. 0

The order of the reaction H
2
(g) + Cl

2
(g) = 2HCl over water is -

A. 3 B. 2

C. 1 D. 0

52. fdlh xSl ds Bksl lrg ij vf/k'kks"k.k dh ek=k fuHkZj djrh gSA



A. xSl ds rki ij B. xSl ds nkc ij

C. xSl dh izdf̀r ij D. mi;qZDr esa lHkh ij

The amount of a gas adsorbed on the surface of a solid depends

upon

A. Temperature of the gas B. Pressure of the gas

C. Nature of the gas D. On all of the above

53. dPpk yksgk esa v'kqf) ds :i esa fuEufyf[kr esa dkSu lk rRo vR;f/kd ek=k esa

mifLFkr jgrk gS\

A. QkLQksjl B. eSaxuht

C. dkcZu D. flfydkWu

Which of the following elements is present in the largest amount

as impurity in pig iron?

A. Phosphorus B. Mangnese

C. Carbon D. Silicon

54. fuEu esa ls dkSu lk vkWDlkbM mHk;/kehZ gS \

A. Na
2
O B. MgO

C. SO2 D. ZnO

Which of the following oxides is amphoteric?

A. Na
2
O B. MgO

C. SO2 D. ZnO



55. fuEufyf[kr esa lcls izcy yhfol vEy dkSu gS\

A. BF
3

B. BCl
3

C. BBr
3

D. BI
3

Which among the following is the strongest Lewis acid ?

A. BF
3

B. BCl
3

C. BBr
3

D. BI
3

56. fgfy;e dk eq[; lzksr gS &

A. gok B. jsfM;e

C. eksuktkbV D. ty

The main source of Helium is

A. Air B. Radium

C. Monazite D. Water

57. fuEufyf[kr esa dkSu mi/kkrq gS\

A. S B. Sb

C. P D. Br

Which of the following is a metalloid?

A. S B. Sb

C. P D. Br

58. SO
2
 v.kq esa S ijek.kq dk izladj.k gS

A. sp B. sp2



C. sp3 D. dsp2

The hybridization of S in SO
2
 is

A. sp B. sp2

C. sp3 D. dsp2

59. H
3
PO

3
 gS ,d --------

A. ,dHkkfLed vEy B. f}HkkfLed vEy

C. f=HkkfLed vEy D. buesa ls dksbZ ugha

H
3
PO

3
 is a ........

A. Monobasic acid B. Diabasic acid

C. Tribasic acid D. None of these

60. ejD;wjl vk;u dk lw= gS

A. Hg+ B. Hg
2

2+

C. Hg2+ D. buesa ls dksbZ ugha

The formula of mercurous ion is

A. Hg+ B. Hg
2

2+

C. Hg2+ D. None of these

61. Au /kkrq dh vkWDlhdj.k la[;k gksrh gS

A. $1 B. $3

C. $1 ,oa $3 nksuksa D. buesa ls dksbZ ugha



The oxidation number of Au metal is

A. +1 B. +3

C. Both +1 and +3 D. None of these

62. K
4
[Fe(CN)

6
] esa dk Fe izladj.k D;k gS \

A. dsp3 B. dsp2

C. d2sp3 D. sp3d2

What is the hybridization of Fe in K
4
[Fe(CN)

6
] ?

A. dsp3 B. dsp2

C. d2sp3 D. sp3d2

63. ,fFky DyksjkbM esa Ag CN ds lkFk xeZ djus ij izkIr gksrk gS &

A. ,fFky lk;ukbM B. ,fFky vkblkslk;ukbM

C. ,fFky ,ehu D. ,fFky ukbVªsV

Ethyl chloride on heating with Ag CN gives

A. Ethyl cyanide B. Ethyle isocyanide

C. Ethyle amine D. Ethyl nitrate

64. ,fFky ,Ydksgy ds lkFk fdl ;kSfxd dh vfHkfØ;k ls ,fFky czksekbM curk gS\

A. KBr B. KBr rFkk lkUnz H
2
SO

4

C. Br
2

D. NH
4
Br

Which compound forms ethyl bromide on reaction with ethyl

alcohol?



A. KBr B. KBr and conc. H
2
SO

4

C. Br
2

D. NH
4
Br

65. lksfM;e ,FkkWDlkbM rFkk czkseks,Fksu vfHkfØ;k djds nsrs gSa

A. esfFky ,sfFky bZFkj B. MkbZesfFky bZFkj

C. MkbZ,fFky bZFkj D. izksisu

Sodium ethoxide on reaction with bromoethane gives

A. Methylethyl ether B. Dimethyl ether

C. Diethyl ether D. Propane

66. C
4
H

10
O fdrus leko;oh bZFkj iznf'kZr djrs gSa \

A. 3 B. 2

C. 4 D. 5

How many isomoric ethers are represented by C
4
H

10
O?

A. 3 B. 2

C. 4 D. 5

67. fuEufyf[kr ;kSfxdksa esa fdl ij bysDVªkWuLusgh }kjk rqjar vkØe.k gksxk \

A. DyksjkscsUthu B. csUthu

C. fQukWy D. VkWybZu

Elecrophiles will readily attack on which of the following ?

A. Chlorobenzene B. Benzene

C. Phenol D. Toluene



68. fuEufyf[kr esa fdldk mi;ksx QkeZfyu ds :i esa gksrk gS \

A. HCHO B. CH
3
CHO

C. CH
3
CH

2
CHO D. CH

3
COCH

3

Which of the following is used as Formalin ?

A. HCHO B. CH
3
CHO

C. CH
3
CH

2
CHO D. CH

3
COCH

3

69. og dkcksZfDlfyd vEy tks VkWysUl vfHkdkjd dks vod`r djrk gS

A. HCOOH B. CH
3
COOH

C. CH
3
CH

2
COOH D. buesa ls lHkh

A Carboxylic acid which reduces Tollen's reagent is

A. HCOOH B. CH
3
COOH

C. CH
3
CH

2
COOH D. All of these

70. Dyksjy dk lw= gS &

A. CHCl
3

B. CH
2
ClCHO

C. CCl
3
CHO D. CHCl

2
CHO

The formula of Chloral is

A. CHCl
3

B. CH
2
ClCHO

C. CCl
3
CHO D. CHCl

2
CHO



[k.M&c@SECTION-B

 y?kqmÙkjh; iz'u@Short Answer Type Questions

iz'u la[;k 1 ls 20 rd y?kqmÙkjh; gSaA fdUgha 10 iz'uksa ds mÙkj nsaA izR;sd ds fy, 2

vad fu/kkZfjr gSA (2x10=20)

Question nos. 1 to 20 are short answer type. Answer any 10 questions.

Each question carries 2 marks. (2x10=20)

1- bdkbZ lsy ls vki D;k le>rs gSa \ 2

What do you mean by unit cell?

2- fo|qr jklk;fud lsy D;k gS\ ,d mnkgj.k ls le>k;saA 2

What is electrochemical cell? Explain with one example.

3- yksgs esa tax yxus ds laca/k esa fo|qr&jklk;fud fl)kUr dk mYys[k djsaA 2

Discuss electrochemical principle about rusting of iron.

4- /kkrq ds oS|qr 'kks/ku fof/k dk laf{kIr o.kZu djsaA 2

Explain in brief electro refining of metals.

5- ,fFky vYdksgy dks vki DyksjksQkeZ esa dSls cnysaxs \ 2

How would you convert ethylalcohol into chloroform?

6- fuEufyf[kr dk IUPAC uke fy[ksaA 2

(i) CH
3
-CH=CH-COOH (ii) CH

3
-N-CH

2
-CH

2
CH

3

Write IUPAC names of the following -

(i) CH
3
-CH=CH-COOH (ii) CH

3
-N-CH

2
-CH

2
CH

3

H

H



7- mi'kked ls vki D;k le>rs gSa \ 2

What do you mean by Tranquilizers?

8- csdsykbV ij laf{kIr uksV fy[ksaA 2

Write short note on Bakelite.

9- mnkgj.k ds lkFk HkkSfrd vf/k'kks"k.k vkSj jklk;fud vf/k'kks"k.k dh ifjHkk"kk djsaA2

Define physical and chemical adsorption with suitable examples.

10- la;qTe ca/ku fl)kUr dh lgk;rk ls [NiCl
4
]2- ds lajpuk dk o.kZu djsaA 2

Discuss the structure of [NiCl
4
]2- with the help of Valence Bond

Theory (VBT).

11- ,slhfVd vEy ls ,slhVksu vki dSls izkIr djsaxs\ 2

How would you obtain Acetone from Acetic acid?

12- ^^QkfeZd vEy ,sfYMgkbM vkSj vEy nksuksa tSlk vkpj.k djrk gSA** O;k[;k djsaA2

"Formic acid behaves both as an aldehyde and as an acid." Explain.

13- ,sfuyhu ls fQukWy vki dSls izkIr djsaxs\ 2

How would you obtain phenol from aniline ?

14- &gsfyDl lajpuk ds LFkkf;Ro ds fy, dkSu lk ca/k mÙkjnk;h gksrk gS\ 2

Which bond is responsible for the stability of -helix structure?

15- vEyh; ek/;e esa ,sflVfYMgkbM ,oa HCN dh izfrfØ;k dk o.kZu djsaA 2

Discuss the reaction of Acetaldehyde and HCN in acidic medium.

16- fdlh jklk;fud vfHkfØ;k ds osx fLFkjkad ls vki D;k le>rs gSa\ 2



What do you mean by the rate constant of a chemical reaction?

17- v.kqla[; xq.k/keZ D;k gSa \ v.kqla[; xq.k /keksZa ds uke fy[ksaA 2

What are colligative properties? Write names of colligative properties.

18- okUV gkWQ xq.kd D;k gS \ 2

What is Van't Hoff factor?

19- ,fFky,sehu dks HgCl
2
 dh mifLFkfr esa CS

2 
ds lkFk xeZ djus ij D;k gksrk gS \2

What happens when ethylamine is heated with HgCl
2
 in the presence

of CS
2
?

20- DNA fQaxj&fizfVax dh fdUgha nks mi;ksxksa dks fy[ksaA 2

Write two use of DNA finger printing.

nh?kZmÙkjh; iz'u@Long Answer Type Questions

iz'u la[;k 21 ls 26 rd nh?kZ mÙkjh; iz'u gSaA izR;sd iz'u ds fy, 5 vad fu/kkZfjr gSaA

fdUgha 3 iz'uksa dk mÙkj nsaA (3 x 5 = 15)

Question nos. 21 to 26 are long answer type questions. Each question

carries 5 marks. Answer any 3 questions. (3 x 5 = 15)

21. izFke dksfV dh vfHkfØ;k D;k gS\ izFke dksfV dh vfHkfØ;k ds nks mnkgj.k nsaA izFke

dksfV dh vfHkfØ;k ds osx fLFkjkad ds fy, O;atd izkIr djsaA 5

What is first order reaction? Give two examples of first order reaction.

Obtain an experssion for the rate constant of a first order reaction.

22. ijklj.k ,oa ijklj.kh nkc dh ifjHkk"kk djsaA fdlh vok"i'khy ,oa vui?kV; foys;



ds vkf.od nzO;eku dh x.kuk ijklj.kh nkc ekiu dh enn ls dSls fd;k tkrk gS\ 5

Define Osmosis and Osmotic pressure. How the molecular mass

of a non volatile and non-electrolyte solute is determined with the

help of Osmotic pressure measurement?

23. vk;ksMhu ds eq[; lzksr D;k gSa\ vk;ksMhu dks leqnzh ?kkl ls dSls izkIr djrs gSa\5

What are the main sources of Iodine? How is Iodine extracted from

sea weeds?

24. yksgs ds nks eq[; v;Ldksa dk uke fy[ksaA bls v;Ld ls izkIr djus dh fof/k la{ksi

esa fy[ksaA 5

Give two important ores of Iron. Write in short the process of

extraction from its ore.

25. D;k gksrk gS tc 5

A. 'kq"d dSfYl;e QkesZV dks rst xeZ fd;k tkrk gS\

B. DyksjksQkeZ lw;Z ds izdk'k esa gok ds laidZ esa vkrk gS\

What happens when

A. Dry calcium formate is strongly heated?

B. Chloroform reacts with air in the presence of sunlight?

26- izksVhu dh izkbejh lajpuk dk mYys[k djsaA 5

Discuss primary structure of protein.


